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A Line Graph to Show

1) This line graph shows how far

3000 a class walked over half an hour, in
metres. Add a title and label the axes.
2500 2) Use the graph to complete the table.
2000 Time in Minutes Distance in Metres
5
1500 10
1000 =
500
30
5 o 15 20 25 30
Temperatare | 1) Use this chart showing the temperature during
aday out to draw your own line graph.
Ham e 2) Use your line graph to find the following information.
Fry— P &) Estimate the temperature at 230 p.m.
b) What time did the temperature stop increasing?
Tpm 18°C ) o i ?
©) What type of data i the temperature?
2pm. 2re d) Will your line graph start at 0°C?
3pm 22
Explain why
Ypm 22
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1) Knata has made numbers on place
value grids. To divide each number by
100, she has moved the counters and

wrictn the answer. Complee the
diograms and write the calculations. The
First one has been don for you.

D[ Tons

[ Tene

tenths [ nundrading

o
o
2) Clrlethe corect words:
To divide @ number by 100, the diges

mave[one/worthre | ptacs o the [ rigne/afr

3

e ths rule tofind the missing rumbers
O place valuegrds f you need to.

0 24100 5 741005

g} 100009 |4) 34+ 100+

9 95100

1 60100~

£l 100022 | 100+ 083
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When o 2-diic number s divided by 100,
the answer wil always be greater than

when a -lgit number (s divided by 100,

1) 1 this seatemen atwags, somerimes or never true?
Give 4 example to show whi you think this s 0
and explain your decson.

2) T children are thinking of & number

The namber T
thinking of 2100
5 4| tmes amaltr tan 45

@) Leo says that he defiitely has the greater
umber. Shona says that you can't say who has
the greater number from the Information given.
Who's correct? How do you know?

) 1fLeo doe have th greater number,what number
ivided by 100 could give hs answer?
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1) Which do you think s most usful o help
divide 1 and 2 digics by 100:a place
value chart or & Gattegno grid? Explain

your reasoning
Gattegno Grid

Place Velue rart
Tens | Ones § enths
¥
1
t

2) Complete thesecalulations. Use the Gestegno grid
for one and a place value chartfor th other.
Explain how you worked out the answers.

@ 764100

b 80100
3) Wit calulations togive the answers shown.
100+

) ananswer s than 0,15
b) ananswer greater than 05
) an answer less than .24 and greater than 0.04
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Read, Write and Compare the Time:
Before and After

Read the clock and work out the time before or after. Write your answer in 24-hour format.

zzzzzzzzz h dmg
27 minutes afte

(pa:23) (i6v3) [13:88)

Ninety minutes One hour and forty-two 93 minutes
before minutes after before
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Read, Write and Compare the Time:
What'’s the Difference?

All clocks show the time on the same day unless indicated.
Write the difference between each pair of clocks in:
@) hours and minutes

b) minutes alone

Afternoon Morning

[ — a)
b) b)
Morning Evening

[P )
[ )
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Addition with Money

Find the total cost of the items below. You will find the price of each item from the Grocery
Store Price List. Use the space to show your working

Grocery Store Price List:

apple 53p pack of tomatoes 78p pepper 60p
banana 41p milk £2.81 rice £3.65
carrot 59p cheese £2.92 tuna £5.65
pineapple £152 chocolate £3.10 bacon £1.82
pack of strawberries 84p eggs £1.24

box of peaches £1.32 spaghetti £2.38

N @

Total price = Total price =
Total price = Total price =

K. NN @

Total price = Total price =
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Addition with Money

Find the total cost of the items below. You will find the price of each item from the Grocery
Store Price List. Use the space to show your working.

E=

‘oS

Total price = Total price =
e(Q *Q
Total price = Total price =

Qa’i

Total price =

=t L

Total price =

B3

Total price =

T 119

Total price =





image1.png
Missing Number Target Total

1 can find missing numbers using the inverse

Each circle must add up to 100. Insert the missing numbers to complete the
circles. Use your knowledge of addition and subtraction to solve the puzzle
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Challenge
True or false? 2 of 40 is 72?
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1) Betsy and Rowan are working out the answer
to this word problem:

Look at their methods. Explain and correct any ‘ -. ""

mistakes each child has made

IS
o
w

2) Betsy thinks that only calculations with 5 - 2 in the hundreds column will have an answer with 3 in the hundreds
column. Is she correct? Prove your answer.
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1

What could the missing numbers be?
Find all the possibilities.

2) Rowan s trying to find all the possible subtraction
calculations from 9629 he can make using the four digits
shown below in any order (for example, 9629 - 1800)

o o 1 8

How many calculations can you find? Which calculations
don't require an exchange? Which require an exchange?





